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FOURTH SEMESTER
CIVIL/CTM
SCHEME JULY 2008
ADVANCE SURVEYING

Time : Three Hours Maximum Marks : 100

Note : (i) Attempt total six questions. Question No. 1
(Objective type) is compulsory. From the
remaining questions attempt any five.

T B: W g P W Hia 1(FgAs
HER FT) Afart &1 9 wea) f =i oiw
B g HI

(ii) In case of any doubt or dispute, the English
version question should be treated as final.
&< oft R ¥ W sruar Rae H RN
¥ ST veT ¥ we Y Sife W SR

1. Choose the correct answer. 2 each

W&l I &1 97 H)

i)  Suitable method for plotting details of small area
by plane table survey is -
(a) Radiationmethod (b) Method
(c) Intersection method (d) Resection method
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(7) wferede RAfY (%) Iroe fafY

The size of Theodolite is measured by -
(a) Height of instrument

(b) Length of instrument

(¢) Diameter of Lower plate

(d) Diameter of Upper plate

YSYSTZS BT WIFH AT AT B
W)mﬁa*méﬂ

(7) SuapRor H sard |

(1) Faeht wie & @ma 3

(2) P e & @ A

In a 4° simple curve if the length of the tangent
equals to its radius, then the deflection angle will
be -

TP 4° G¥c g & wefoan 3R B i wFard
wHH & @ fAsrg @Yor & g 2
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Explain the following in theodolite traversing:
9

1) Closing error

i) Bowditch rule

111) Transit rule

wStaTge gwn ¥ A=farfa o waengd

1) wETeT Jfe

i) afge Aam

i) gifore P

Name the methods of theodolite traversing and

explain included angle method. 9

wSIerge gy &) faftgl & 3w frgay
3a: i ffY Bt wwsmE

Write short note on following (Any three) - 6 each

Application of remote sensing

1) Anal photography

1) Total station
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(a) 45° ) 607 iv) Principle and components of .1 .M.
(c) 90~ (d) 120°
S/2015/6176 Contd.....
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iv) Number of sub chord in a simple circular curve

arc -
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40° v 1 sierTer 20 e @ & et & z (8) One - ) Two
T HISR: % (c) Three (d) Four
i) waefour 28 g TP WYRY a5 3 Igqoitar 6 G B 8
.. . @
i) @ & warg E ()7 (@)
iii) ofrf & = (®yd= (3) IR
iv) W Shiarl f e (Yarda Ry 2g) E v) In case of an inclined line of right with the staff
g held vertical the horizontal distance (D) formula
a) Explain method of temporary adjustment of a by tacheometery survey is given by -
theodolite. 8 St o . .
, &v1 § 51 Wu Y| v g aur
IEARe & FRATE [HoH & Ay & avfa
W% Seafur @ 8, dfes @@ (D) & forg wan
$Hiferd 2rm:
b) Twotangents of a curve of 250m radius intersects 2
at chainage 950 meter..If intersection angle % }a) D:LSsin9+(f+d)sin0
110° and peg interval is 20m. Calculate the : : !
necessary data for setting out simple circular s !
_ curve by "offset from long chord method”. 10 2 (b) D==-cos0+(f +d)cosd
250 Htex Bt ot as i < wefsan 950 e %
ot gt W wRede aw §1 Al R : (c) D=L Scos20+(f +d)cosod
PYOr 110° T ¥ STt 20 e @ @ e ? ’
fra ﬁ@?‘!’*ﬁfﬁ T % T FRA 7Y (d) D=£cose+(f+d)coszﬂ
HEWS sl B T HfoA) !
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Describe the method of plane tabling which is
suitable to plot unapprochable objects. 9

yee waerl B 34 faftr & avie FIR it b aga
R ATl Ireae B i B 2 I9GH ¢

What 1s orientation in plane tabling survey, why

it is necessary”? Explain the methods of

orientation. 9

g gderor ¥ feaerras aar glan & ? 9uT I8 F A
IMAYH ¢ ? RFwum= & Ay &1 gufa HioR

State the fundamental axis of theodohte and write
the relation between them. | 8
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&t sgw # way forlRadn

What are the uses of theodolite”? Explain the
procedure of measuring detlection angle with the
trelp of theodolite. 10
erSaTge & fafts suam faRed wareiege
g1 fag s oA & fRAfY & avf= Hifs

What are the essential requirements of a
tachecometer”?
tachcometery. &
U CqHIe] &Y FT MG an g ? eaandied
& Rigra & wazsd|

Contd.....
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Two distances of 50 and 75 meters were measured

on level ground and the staff reading with staft

held vertical are 1.935. 2.180, 2.425 and 2.165,
2.550. 2.935 respectively. Calculate the
tacheometric constants, 10

qHAA AAE W gRAT 50 wa 75 Htex anft 1 @
TP Itafa [@EHR IISa1d T 1.935, 2,180,
24251 2.165,2.550, 2,935 fow 1) cmifes
Rrte & o o

5. a) /{cscribe ‘Deflection angle method' for setting

simple circular curve on field. 8
#gM 9R ATYRVT JATHR A FATAG B Y
‘faga o7 A @1 avfe HifoRn

b) Two tangents intersect at chainage 1200 meter.
If the radius of curve 100m, deflection angle
40° and peg interval is 20 m,

Then calculate the following :

i) Tangent length

i1) Lengthofcurve

111) Apex distance

iv) Number of normal chords (For Rankine's

method)
2+2+2+4
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